Maytag A21CM 06 - CM CONTROL CENTER

SPECIFY COLOR IF OTHER THAN WHITE m (om.ol m
LN J
F
L
2413034
L
211204
52740 210300 52740
< - =
23307
L 2 4
M 23068 212276
2:13035 211250 g10181
- ;- . 213840
211204 ' : .
2990
i *24973 —
- ? 24577 CM
Actuator assembly
2-3304
213859
& \ ¥
[ — 213738
21350
O
213501
*24973  Timer motor for 24877 tmer with 2-5415

Blue band excapement.  NOTE:  Blue
bard escanement not avallabl'e
« » CONTACT YOUR COMMERCIAL LAUNDRY DISTRIBUTOR FOR KEYS, LOCKS,
TICKETS, TICKET DISPENSERS AND CONTROL CENTERS

Copyright 197 N THE MAYIAG COMPANY @ Newlon, lowa @ Pristed In USA

Maytag Residential Maytag A21CM Washer Parts Parts Diagram 06 - CM CONTROL CENTER

Click on the part number to view part

Original Part Number Replaced By Part Description
001 Y052740 62739 Nut, Lock
002 NLA Not Available MOTOR, TIMER
003 205415 279347 Switch-Lid
. TIMER ACCESS DOOR
004 203188 Not Available (WHT)

WASHER SLIDES

005 NLA Not Available ACTUATOR KIT

006 NLA Not Available STRAP, MOUNTING

007 203761 DOOR, ACCESS (WHT)

008 203761 DOOR, ACCESS (WHT)

009 NLA Not Available SWITCH HARNESS, TIMER
010 NLA Not Available LATCH, ANTI-INERTIA

011 NLA Not Available RELAY (240-50)

012 NLA Not Available BOX, COIN (WHT)

013 NLA Not Available WIRE HARNESS, MAIN

014 204577 Not Available TIMER WITH KNOB AND PIN

015 NLA Not Available CENTER, CONTROL (WHT)


http://www.pwslaundry.com/c-504477-residential-maytag-a21cm-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10415761-maytag-62739-washer-dryer-nut-lock.html
http://www.pwslaundry.com/i-10415045-maytag-279347-washer-dryer-switch-lid.html

016
017

018

019

020

021

022

023
024
025
026

027

028

029

030
031
032

NLA

211294

212276

NLA

90767

W10116760

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available
Not Available

Motor, Timer
COUNTER KIT W/ACTUATOR

Screw, 8A X 3/8 HeX Washer
Head Tapping

FASTENER

Screw, 8A X 3/8 HeX Washer
Head Tapping

Screw

GASKET, CONTROL
CENTER

Bolt, Locking

Screw, No.6-20 X 1-1/8 Inch
SPRING WASHER, LOCK
Screw, No.6-32 X 1/4 Inch

RETURN SPRING, TENSION
LEVER

LEVER ARM, SWITCH

MOUNTING BRACKET,
TIMER

CASE, OUTER (WHT)
SCREW, RETAINER

Lockwasher, Terminal Block


http://www.pwslaundry.com/i-10406249-maytag-204973-washer-motor-timer.html
http://www.pwslaundry.com/i-10412063-maytag-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10412063-maytag-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10414248-maytag-w10116760-washer-dryer-screw.html
http://www.pwslaundry.com/i-10409637-maytag-213035-washer-dryer-bolt-locking.html
http://www.pwslaundry.com/i-10409599-maytag-213501-washer-dryer-screw-no-6-20-x-1-1-8-inch.html
http://www.pwslaundry.com/i-10409646-maytag-212951-washer-dryer-screw-no-6-32-x-1-4-inch.html
http://www.pwslaundry.com/i-10412767-maytag-910181-washer-dryer-lockwasher-terminal-block.html

	Maytag A21CM 06 - CM CONTROL CENTER

